[ number of missing inner layers |

10

Ratl

mean hi

<hits>vs n

Ratio

[ number of missing outer layers |

0.95

1 - Entries 128 1 - - —| Entries 128
E : Mean 0 E : : + | Mean 0.01562
r N Std Dev 0 r : N . | Std Dev 0.124
-l i ——— | -l U UL PR S |
10E : Entries 127 10E N BN 127
F Mean 0 F : : Mean 0.01575
L Std Dev 0 L N . Std Dev 0.1245
-2 : : I S IR R P P teeeato..ido...
10 E 10 E Entries 127
F F ' ' Mean 0.01575
3 B 3 I N N Std Dev 0.1245
10°F O
107 107 P :
10°F (O A
1055 01059 FPETY TR PRI PP P P U I P
oo = Foo : :
r 1 © r 8 N
[ o [ . .
— Y- :
L <t : : :
0 35 4 45 5

0 O

5115 2 25 3 35 4 45 5

o
©

05 115 2 25 3

m—— DQM_mkFit_baseline_lowPT

== DQM_mkFit_baseline6iter_lowPT
— DQM_mKkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

40

35

30

25

20

15

Entries 128
Mean 18.04
Std Dev 2.788
: 1
Entries 127
Mean 18.08

10

| Mean

Entries

: | std Dev

+10

[y

I

3

B
L e e
i
1
T
e
T

o
©
C

|
(¢ B B

-2

15 20 25

[Nofreco track vs pT |

30

35 40
track hits

o . T Entries
C : . Mean
107} : : Std Dev
Eﬂ Entries
F H Mean
1072 . Std Dev
; Entries
B . Mean
[[0)5d SECECEETEEN! EEPERREPPEPS e Std Dev
1074 e :
-5
107°F
Y | i
10%

0.95

87330 - - Entries 154
0.4266 i : Mean 33.48
0.218 1071 : Std Dev 29.79
| R L T
87330 F Efmies 152
0.4266 [ : Me: 33.53
0.218 > . : std Del py 30
1 102 IR B i T
87330 F : : Entries 153
0.4266 [ : : Mean 33.43
0.218 10_3E___________;___ . Std Dev 29.93
S i fHH--- P F
107°F : :
010% ] ol
= - b b
< N :
I I + 4 H
1_ _______________ :l' “'_ . '“.'“'_‘Hl_' ________
0.95L i AT i

10



	Contents
	Page 1


